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Problem:   354 ÷ 6
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Step One:  Make the division symbol and put 
the divisor and dividend in the correct places.  
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Think about the meaning of division.  You are being asked to break 354 
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into 6 equal groups  
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Problem:   354 ÷ 6
Step Two:  Ask how many 6s are in 354?  Make a mental estimate.  For example, at least 50.  Write your estimate over to the right.
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(This picture will help you understand what you are doing.  You do not need to make this picture when you divide.)
Here is a picture of 354 squares.
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     50 + 50       50 + 50       50 + 50       
One way to make the estimate is to think about what you know …6 * 5 = 30 so 6 * 50 = 300.
Hint:  It is easy to use multiples of 10 to make your estimates, because multiples of 10 are easy numbers to work with. 

Problem:   354 ÷ 6
Step Three:  50 * 6 = 300.  Subtract 300 from 354.
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(This picture will help you understand what you are doing.  You do not need to make this picture when you divide.)
This means you have taken 6 groups of 50 out of 354.   
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Problem:   354 ÷ 6
Step Four: Ask how many 6s are in 54? Answer: 9 

(Make a mental estimate: I know that 6 * 10 is 60 so a mental estimate of 10 would be too high…)  Write your estimate over to the right.
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(This picture will help you understand what you are doing.  You do not need to make this picture when you divide.)
Here is a picture of 
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the 54 squares.
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Problem:   354 ÷ 6
Step Five: 6 * 9 = 54.  Subtract 54 from 54.
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(I have made a picture to help you understand what you are doing.  You do not need to make this picture when you divide.)
This means you have taken 6 groups of 9 out of 54.   
[image: image125.jpg]


[image: image126.jpg]


[image: image127.jpg]



[image: image128.jpg]


[image: image129.jpg]


[image: image130.jpg]



Problem:   354 ÷ 6
Step Six: Add the partial quotients of 50 + 9 = 59

You are done!
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This means you have taken 6 groups of 59 out of 354.   

You have divided 354 into 6 groups of 59!
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There are 54 squares left to divide up.
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